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' EXAMPLE 1: FIND the focus and directrix of each parabola whose equation is given,

©(a) y=2x2 fq«:us# { O, lz Q.) {b) x= --y* ' fo;;-;us::(-g:@ }

+ EXAMPLE 2: FIND an equation of the parabola with vertex (0, 0) axd dircctrix x= =2,
, 2.
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;’ é‘;&;}%@: NN EXAMPLE 3: Tell whether the parabola x — 1 = -“(Y'*'Z)z opens up, down, left or
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nght Give the coordinates of the vertex and focus

and the equation of the directrix.
Sketch the graph. _Q__P_Q_Qri___lwea £
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: EXAMPLE 4: Find the e%uauon cif the parabola with vertex (0, 0) and focus (0, ~-)
| Sketch the graph X ~ & }/ l"’“‘““‘w .
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‘ EXAMPLE 5: FIND the vertex, focus, and directrix of the parabola X2+ 4x 4y = 0.
Graph the equation. -
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Parabolas :
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2 Graph the following on your calculafor and m c an accutate sketch below showing cnncal aspects of each
B. 1 +6x—4y+l=0 C yr =2y =8x- 1 w@
2 S i+ L -
Zron - oy -1 e e e
() =4y + (/"3 b Z(
Cre o (¢ y+z) I (o 13 v \
w i N Fe
. ¥ (52 e s i AR €
: *.,, ( 3 \ ‘-g \ l D_ZTI% ll:) X -2 4
i (PR ‘ f‘f aﬂwl wake «p o
| f’T‘% :wt -wﬂ“' “P Lo -\ LR =hpl = 8
| b bt ig a3
1’ 3. A satellite dxsh is shapedhkeaﬂar oloid frcvolutmn The sxgnals that emang t‘rom asatclhte strike the

surface of the dish and are reflected to a single point, where the receiver is located, If the dish is 8 feet
across at 1ts opemng and 3 feet deep at its center, at what position should the receiver be placed? )

o form of prrabola t(x-n) = H /")
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4. The cables.of a suspension bridge are in the shape nf a paraboia Thé towers suppoiting the cable are 400
feet apart and100 feet high. If the cables are at a height of 10 feet midway between the towers, what i is the
height of the’ cable at a point 50 feet from the center of the bridge?
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Cacitt 5. Abridge is to bé built in the shape ofa p parabohc arch andi§to" have*a?épan‘vf“lﬂﬂ cet. The helg‘gt of the”
arch a dlstance of 40 feet from the center is to be 10 feet. Find the helght of the arch at its center.
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